Fon: +49/89-85 83 69 -0 « Fax: +49/89-85 83 69 -70
info@mva-messvt.de « www.mva-messvt.de

MVA GmbH ¢ Mess- und Verfahrenstechnik
Lochhamer Schlag 6 + D-82166 Gréfelfing

MVA automatic ball valve

Stainless steel design

MVA automatic ball valve Rev.00 1213 DD

Automation unit with 3-piece ball valve
3-plece ball valve with thread ends, full bore, PN 63; DN10 - 100 in stainless steel
Temperature range automation unit: -20°C to +80°C Defall : " X * o
other temperatures on eq., temperature mngs ball valve: -20°C to +200°C
e M N
,4
o View : X ‘ | 82
= 1
0|0
@ i
1o o— 15
- o o 14
= W v s i 13
ol o | & % ] 3
D TIH 1]
10 ¥
o "
g — - e e
= 8 ]
7) / / \ \
|
o H—& —— 3)+ i
Face-fo-face dimensions of the 5 \\ % J
valve acc, to DIN 3202-M3 -] 4) \ /
The 'Ln:ts are mltcb(:ffoflbgncr n 5 —’/\E 3
control pressure and for lubrica-
ﬂr?g, neSfrcl medias, Units for ~ 2 %"'/
not lubricating, cryst.cllizlng‘ 1
medias or medias with particles L Bl
on request, I
Pos. | pcs. Description Mcterial Pos. | pcs. Description Material
1 1 l-Body 1.4408 9 1 |[Thrust washer PTFE
2 2 |End cap 1.4408 10 1 |Stem 1.4401
3 1 [Ball 1.4401 11 1 [O-Ring Viton
4 |4-12|Bolt washer 1.4301 12 3 |Stem seal PTFE
5 |[4-12]Bolt nut 1.4301 13 1 |Gland ring 1.4301
6 |4- IZJ(EOM 1.4201 14 2 |Bevelwasher Spring steel
7 2 |Seatring PTFE 15 1 |Gland nut 1.4301
8 2 |Bodyseal PTFE ) P P o
oo R
Size |00015|00015]00015|00015|00015 {00030 {00015 00030 |00D30 | 00040 | 0030 | 0000 | 00050 | 00100 | 00060 | 00100 | 00 |00 150 |00 100 {00150 |00150| 00220
G 1/4" 3/8" 1/2" 3/4" i b 11/4" 11/2" g 21/ 3" 4"
DN 10 12 16 20 25 32 a0 80 & 100
L &0 0 75 80 %0 110 120 140 185 206 240
SW 24 24 29 35 a1 50 58 73 105 135
B1 50 50 50 54 60 72 81 125 190 2
H2 40 40 40 4 52 58 8 110 138
A 141 | 141 [ 141 | 141 | 141 | 189 | 141 | 159 | 189 | 211 | 189 | 211 | 211 | 248 | 211 | 248 [ 211 | 269 | 248 | 269 | 269 | 315
B & | 69 | 69 |69 | 62 85 [ 49 | 85 | 85 [ 102] 85 (102|102 | N5 (102 | 15[ 102 [ 127 | 116 | 127 [ 127 | 145
H 22|22|(20(2| 20| 22|2|22|2(2|2|2|2|20|2(2|(20|20(20| 20|20/ 30
HI 120 [ 1291129 | 129 129 [ 145 | 133 | 149 | 157 | 174 | 163 | 180 | 190 | 203 | 199 | 212 | 220 [ 245 | 245 | 257 | 285 | 313
P Z|Z7|27|27|27]|30|27]|3]|]30]|31]|]3O]3N]3 |]33|]31]|]33]|31|3B|[3B3|]3B|]38]| 43
T /8| yet et oyet st oayst [t ayet et | yet st oyst| et et et et et At st A a | oa
@Z | 40 | 40 | 40 | 40 | 40 [ 40 [ 40 | 40 | 40 | 40 | 40 | 40 | 40 | 40 | 40 | 40 | 40 [ 40 | 40 | 40 | 40 |56/65
o ninin|nn|{n|83|n|83|(83|os5(8]|9|es 107|107 96[123]107|123] 123 14
M |12 |129|29| 0|36 |29 3% |36|43 36|43 | 43 | 50|43 | 50| 43 | 56| 50 | 5 | 56 | 64
N 2 | 2| 42| 42 42| 47| 42 | 47 | 47 | 52| 47 | 82 | B2 | 57 | B2 | 57 | 82 | 67 | 57 | &7 | 67 | 77
TTYPE D> GOUTIe GeTing, TYPe SC o> 3ng1e acing
1




MVA GmbH ¢ Mess- und Verfahrenstechnik
Lochhamer Schlag 6 + D-82166 Gréfelfing

MVA automatic ball valve

Fon: +49/89-85 83 69 -0 « Fax: +49/89-85 83 69 -70
info@mva-messvt.de « www.mva-messvt.de

MVA automatic ball valve Rev.00 1213 DD

Automation unit with 3-piece ball valve
3-piece ball valve with weld ends, full bore, PN 63; DN10 - 100 in stainless steel
Temperature range automation unit: -20°C fo +80°C
other temperatues on req., temperatue range ball vdve: 20°C to +200°C Detall : * X* o
TR e ¢ | T
i View : X + Al e = 22
= |
| 00 L \
A
| 15
@ H
¢ ¢— .
z — OO s - D
ol 24 | & }é;, :7
1
9
g 8
P 7
Face-to-face dimen- f 3
slons of the valve
acc. to DIN 3202513 ) 5 ] 4
The units are sutable for & 1 5
bar Ioor‘lmd pressure and for A 6
lubricating, neutral medias.
Units for not lubricating, 2
crystallzing medias or
medas with particles on L 1
equest,
Pos. | PCS. Description Material [Pos. | pCS. Description
1 1 |Body 1.4408 9 1 [Thrust washer
2 2 |Endcap 1.4408 10 1 |Stem
3 T [Bdl 1.4407T i T |O-Ring
4 |4-12|Bolt washer 1.4301 12 3 [Stemsed
5 |4-12)Bol nut 1.4301 13 1 |Gland ring 1.4301
6 |4-12Balt 1.4301 14 2 |Bevelwasher Spring steel
7 2 [Sedtring PTFE 15 1 |Gland nut 1.4301
8 2 |Bodysed PTFE
Size |00015|00015|00015|00015| 00015| 00030 (00015 | 00A30 | 00030 | 00040| 00030 | K050 | K00S0 | DO100| 00060| 00100| 00040 | 00150 | 00100/ 00150| 00150| 00220
1/4° 3/8" 1/2° 3/4" 1" 11/4 11/2° < 212 3 4
G 20 20 23 28 34 4 49 78 94 125
DN 10 12 16 20 25 32 40 65 80 100
L 70 70 75 90 100 110 125 150 190 220 270
B1 50 50 50 54 0 72 81 99 125 190 222
H2 40 40 40 44 52 58 68 98 110 138
A a1 a1 [ a1 | 141 [ 189 | 141 [ 159 | 159 | 211 | 159 [ 211 | 211 [ 248 | 211 | 248 | 211 | 269 | 248 | 269 | 269 | 315
B Q1 69| 69 | 69| 69| 8 | 62| 8 | 85 | 102] 85 [ 102 102 N&| 102 115 102 | 127 | 115] 127 | 127 | 145
H 20]2[20|20|20] 20| 20|22 |20]20[ 2020|202 |20 20(20] 2|2 |2 [ 30
HI [ 129 (129|129 | 129 | 129 | 145 133 | 149 | 157 | 174 | 163 | 180 [ 190 | 203 | 199 | 212 | 220 | 245 | 245 | 257 | 285 | 313
P 27 | 27 | 27 |27 | 27|30 |27 |3 |3 (305)30| 31|31 )3 |31 33|31 (38 |33|3|3| 4
)3 1/8%) 1/8* [ 1/8" | 1/8" | 1/8 | 1/8" | 1/8" | 1/8" [1/8" [1/8" | 1/8" | 1/8"| 1/8"| 1/8" | 1/8" | 1/8" | 1/8" [1/4* | 1/8" | 1/4* [ 1/a" | 1/4
@Z | 40| 40 | 40 | 40 | 40 | 40 | 40 | 40 | 40 | 40 | 40 [ 40 | 40 | 40 | 40 | 40 | 40 | 40 | 40 | 40 | 40 |56/65
[¢] nin|n|7nn |78 (718 |8 |95|[83]|9|9%[107] 9 |107| 95]123(107]123]123| 41
M| 2|22 20|29] 36| 29| 3| 3%]|43|36|43]43] 50| 43| 50| 43 56| 50| &6 | 56 | 64
N 42 | 42 | 42 | 42| 42| 47 | 42 | 47 | 47 | 52 | 47 | 82 | B2 [ 57 | B2 | 57 | 52 | 67 | B7 | 67 | &7 | 77
BTDE L > OOUDIE OCTrg VDS oo o Srrg ramim
2




MVA GmbH « Mess- und Verfahrenstechnik Fon: +49/89-85 83 69 -0 « Fax: +49/89-85 83 69 -70
Lochhamer Schlag 6 + D-82166 Gréfelfing inffo@mva-messvt.de « www.mva-messvt.de

MVA automatic ball valve

Automation unit with 2-piece ball valve
2-piece bal valve with thread endks, full bore, PN63; DN8 - 100 in stainless steel
Temperature range automation unit: -20°C to +80°C
other temperatures on request, temperatures ball valve: -20°C to +200°C
Detail : * X" K (o] X
4 * | = |
! M N
il I 8| | - -
[ A M5x8
g 1 " ¥
T View : X + 30
_ b,
A
P VI Tl slessmess o, S
T.¢- ‘l = T T
- : . N -
T ] ? i 9
A
8| 24 'é' / 8
] ——]
1 7 ,
12 | 6 |
_ 5
g 1 2 4
G o o s & PR T — |3 - - c— —
y = 3
e 227
2
.
Il Lasio N 1
~Pos. | pes. Descripiion Maenal | Pos. | pCs. Descrphion WMatenar | All dimensions in mm.
1 T [Body 1.4408 8 | 2 [Sping 1.4301 Face-to-face dmensions
2 T [Endcap 1.4408 9 | 1 |Nut 1.4301 of the valve acc. to DIN
3 2 |Ballseat PTFE 10| 1 |Ring 1.4301 3202 M3,
4 1 [Thrustwasher PTFE n [ 1 gtem 1.4401 BSP thread
5 1 |Body seal PTFE 12 1 |O-Ring Viton
6 2 [Stem packing PTFE 13| 1 [Bal 1.4401
7 T [Gland nuf T.4407
Type" | "DR | 5C | The units are suitable for
Size |00015(00015(00015| 00015| 00015/ 00030, 00015 00030 00030 | 00060 oano’;umcoamowow oo 0100 6 bar control pressure
G 1/4" 3/8" /2" 3/4" 1 11/8° 11/2 P and for lubricating, neu-
@D N4 127 15 20 25 N8 38 508 tral medias.
L 50 60 75 80 90 110 120 140 Units for not lubricating,
H2 50 50 53 &4 71 [:7] 93 115 crystallizing medias or
medias with particles on
A [ s9f141] 159|189 | 211 | 1589 | 211 | 159 | 211 | 211 | 248 request
B |69 | 69| 69| 69 | & | 85| &9 | 85| & | 102| & | 102| 85 [ 102[ 102| 115 '
H [20]/ 20| 20| 20| 20| 20| 20| 20| 20| 20| 20 [ 20 [ 20| 20| 20 | 20
HT | 139 [ 139 [ 139 | 139 | 142 | 158 | 153 | 169 | 176 | 193 | 187 | 204 | 198 | 215 | 237 | 250
P [Z7|Z|Z|Z|Z0|27| 00| an[D]|31|0[3[a1]33
T e we s s e s s e ye s e s s ]is s
@z |40 | 40| 40| 40| 40 | 40| 40| 40| 40| 40| 40 | a0 | 40 | 40 | 40 | 40
O [V [ M| N[N | 71|83 |71 83| 8|9 |89 |83[B] 9|10/
M | 20| 9|29 29| 36|29| 3| 3|43 |43|3| 43| 43| 50
N |42 | 4| a2 |a|a2|a7|a2|a7| a7 | 82|47 52|a7]|5]| 8|85
D Type DR -> doutie acting. type SC -> pring refurm
3

MVA automatic ball valve Rev.00 1213 DD



MVA GmbH « Mess- und Verfahrenstechnik Fon: +49/89-85 83 69 -0 « Fax: +49/89-85 83 69 -70
Lochhamer Schlag 6 + D-82166 Gréfelfing inffo@mva-messvt.de « www.mva-messvt.de

MVA automatic ball valve

Automation unit with compact flange ball valve
Compact flange bdll valve, full bore, PN16/40; DN15 - 100 in stainless steel
DN15 - DN50 flanges acc. to PN 40; DN65 - DN 100 flanges acc. to PN 16
Temperature range automation unit: -10°C to +80°C
other termperatues on req., temperature range bdl vave: Detail : "X * (o]
-10°C fo +140°C 4 *
- _|_. =) M N
M5x8
o View: X * L—Jao 2z
= |
] | L \
P !
T —=
- - s -8 -
£ N
a| oy @ L
\l p Tk At J_/
1 ! 11 [ ”
12 1
g
13 9
- 8
z 7
5
The urits are suitable for & 6
barcontol pressure and for o 4
lubricating. neutrd medas. s .
Units for not lubricating, 3
crystaliarng medias or 2
medias with particles on
request. L1.6 1
Pos. | Pcs. Description Matenal Pos. | pCs. Description Mderal |
1 1 [Body 14408 8 1 |Stem 1.4401
2 1 |End cap 1.4408 9 2 |Disc spring SUS 201
3 2 |Seat PTFE 10 1 |Gland nut 1.4301
4 1 |Ball 1.4401 11 1 |Tabwasher 1.4301
5 1 [Thrust washer PTFE 12 1 |opticnal antistatic 1.4301
6 1 [Body seat PTFE 13 1 |O-Ring Viton
7 1 [Gland packing PTFE 14 2 [Gland 1.4301
Type"
Size |00015|00030| 00015| 00030| 00030/ 00060 00030 00040 | CO040| 00100 00060 | 00150 | 00100 | 00220 | 00100| 00220| 00150, 00300
1/2 3/4" 1 11/4" 11/2" 2" 21/ 3" 4"
DN 5 20 25 32 38 50 &5 76 96
L 40 44 53 584 62 78 100 120 152
26 65 75 85 100 110 125 145 160 180
M M12x1,75 | M12x1,75 | M12x1,75 M16x2 M1&2 M16x2 M162 M1&62 M16x2
B1 95 105 115 135 145 155 185 200 220
H2 &0 643 &6 &9 763 as7 105 123 132
A 141 | 159 | 141 | 189 | 189 [ 211 | 189 [ 211 [ 211 [ 248 [ 211 | 269 | 248 | 315 | 248 | 315 | 269 | 345
B 62 | 85| 62 | 85 | 85 | 102| 85 (102|102 115 102|127 | 115 | 145| 115 | 145 | 127 | 157
H |20 22 (20| 20|20 |20 | 20| 20| 20 | 20 |20 |20 |20 [ 30| 20 | 30 | 20 | 30
H1 1491 165 | 183 [ 169 | 170 187 | 174 | 191 | 198 | 211 | 208 | 233 | 240 | 280 | 258 | 298 | 279 | 319
P 27 130|273 |3 |31]|3] 31 31 3| AN 38 | 33 | 43 | 33 | 43 | 38 45
G REG NG EEGEEGNEGREEE GGG NGINEG G EEGNGN G RG
@Z | A0 | 40 | 40 | 40 | 40 | 40 | A0 | 4D | 40 | 40 | 40 | A0 | A0 |56/65 40 [56/65 40 |56/65
o] 71 18| 71 | 8 |8 | 95|83 | 95| 95 |107]| 95 123|107 | 141 | 107 | 141 | 123 | 152
M 29| 3| 29| W | b6 | 43| 36| 43| 43| 80| 43 | 56 | 50 | &4 | 5O | M4 | 56 70
N 42 | 47 | 42 | 47 | 47 | 52 | 47 | B2 | 52 | 57 | 82 | &7 | 57 | 77 | 57 | 77 | 67 82
T TYPe LN > CoUDIe OoTng, YPe TG > ange acing

MVA automatic ball valve Rev.00 1213 DD



MVA GmbH « Mess- und Verfahrenstechnik Fon: +49/89-85 83 69 -0 « Fax: +49/89-85 83 69 -70
Lochhamer Schlag 6 + D-82166 Gréfelfing inffo@mva-messvt.de « www.mva-messvt.de

MVA automatic ball valve

Automation unit with brass ball valve

Ball valve with thread ends, full bore, PN 40; DN8 - 50 in brass
Temperature range automation unit: -20°C to +80°C
other temperatures on request, temperature range bdl valve: -20°C to +200°C

Detail : * X * o
4
<
- View : X *
]
A
) i
T—
—_ N
T &l i a
&) 2e | # i
|
G DAk
IE Ly e83)
8
— S\
—_——— ._E -—
N— (/D)
(L] z I
g 3 \ KJ /
— N IIINSZ
2 \_/
1 sw
L B1
Pos. | PCs. | Description Material "Pos. | pcs.| . Description Material All dimensiors
T T [Body 20402 nickel plated 5 7 |Balseal PTFE in mm.
2 1 |[Endcap 2.0402 nickel plated 6 1 |Stem seat PTFE Face-to-face
3 1 [Bal 2.0402 rickel plated 7 | 2 |ORing Viton dimensions of
4 1 [Stem 2.0402 nickel plated 8 1 [Ceupling 2.0402nickelplated]  the valve acc.
= - —— 1o DIN 3202 M3,
DR | SC | DR | SC [ DR | SC | DR [ SC [ DR| SC | DR| SC | DR | SC | DR | SC | Thread acc. to
00006 | 00015 | 00006 | 00015 | 00005 | 00015 | 00015 | 0001S | 00015 | 00030 | 00030 | 00060 | 00030 | 00100 | 00080 | 00100) (5N 2609 Peyrt |
G 1/4° 3/8° /2 34 : 11/4 11/2° 2’
DN 8 10 15 0 25 32 0 50 e GRlteaE
L 50 &0 75 80 90 110 120 140 suitable for 6
W 19 2 27 2 a1 50 55 70 Eoreatial
Bl 25,5 25,5 34 M 53 66 79 95 pressure and
H2 ES) u 55 a55 95 63 & 5

for lubricating,
A | N5 [ a1 | 115 [ 141 | 115 [ 141 [ a1 [ 141 | 141 | 159 | 159 | 211 | 159 | 248 | 211 | 248 | heufral medias.
B | 45 | & | 45 | 60 | 45 | 69 | & | &9 | & | 8 | & | 02| & | 115 | 02| 15| Units fornot
H | 20 | 20 | 20 | 20 | 20 | 20 | 20 [ 20 | 20 | 20 | 20 | 20 | 20 | 20 | 20 | 20 | lubricating,
H1 | 98 | 122 | 99 | 123 |1005 | 1245 | 134,5| 1345 1385] 106 | 168 | 185 | 174 | 204 | 207 | 20| Crystallizing
P 27| D | 27| 9| 272727 27| 3|3 | 31 |3 | 3| a1 ]| 33 med]OS of
T e 178 | e |18 | 1E | e | e | e | e | e | e | e | e | 18 | /e | e | medias with
@Z | 40 | 40 | 40 | 40 | 40 | 40 | 40 | 40 | 40 | 40 | 40 | 40 @ | 40| Particles on
2 | 71 | a5 | 71 |46 | 71 | 7V | 1 | 71| @ | 8 | 9% | 8 |07 | 9% | 07| rfequest.
a3 a3
5

225| 29 |226| 29 |2256| 29 | 2@ | 2@ | 2@ | B | B
225| 42 | 225| 42 225 42 | 42 | 42 | 42 | 47 | 47

zZ(Z(0

47 57 52 57
*) Fort 1or sole Vae TG 10T S0

MVA automatic ball valve Rev.00 1213 DD



MVA GmbH « Mess- und Verfahrenstechnik Fon: +49/89-85 83 69 -0 « Fax: +49/89-85 83 69 -70
Lochhamer Schlag 6 + D-82166 Gréfelfing inffo@mva-messvt.de « www.mva-messvt.de

MVA automatic ball valve

Automation unit with 3-way valve

3-way ball valve with L or T bore, PN 63; DN8 - 50 in stainkess steel
Temperature range automation unit -20°C bis +80°C
other termperatures on request, temperature range bdl valve: -20°C to +150°C

Q
s Detall:* X * = =
: + i o1
- View : X * M5x8 -
80
= =N

-
(P
R ER\ Y/

L Schattstellungen:
e PRT[ 2 2
Prinziple of the possible positions of the ball valve, L 1@2 1 @z 1@2
tfuming range actuator 90° (fuming range 180° or 3 3 3
3-position actuators on request): T 1@2 1@: ‘@Z
3 3 3
Pos. |StUCK Bezeichnung Werk stoff Pos. |Stiick Bezeichnung Werkstoff
1 1 |Gehduse 1.4408 8 2 |Tellerfeder 14301
2 3 |Gewindestutzen 1.4408 9 1 [Stopfbuchsmutter 1.4301
3 4 |Kugeldichtung PTFE verst. 10 1 |Sicherungsring 14301
4 1 |Drucking PTFE 11 1 |Schaltwelle 1.4401
5 3 |Gehdusedichtung PTFE 12 1 |O-Ring Viten
6 2 [Schaltwellendicht, PTFE 13 1 |Kugel 1.4401
7 1 |Anlaufing 1.4301
Typ " "DR | 5C “DR | SC | The units are suita-
GréBe omm 00015{00030 omm “mm ble for6 bar control
G 1/4° 3/8" 1/2° 3/4° I 23 1172 2' pressure and for
@D 16 127 12 15 20 25 32 a0 lubricating, neutral
L 80 ol a0 83 100 123 143 171 medias.
H2 36 ¥ 36 42 865 52 515 &b
A [T [a s [1a s [ a1 Tse [ 189 [ 210 [159 [211 [ 159 [248 | 211 [ 248 Units for not lubrica-
B 0| 6| 69| 60| 60|85 | & |85] 85 |102] 85 12|85 | N5|1®| N5] ting, crystalizing
H V| |20|0|0|0|2|20|20|0|20|20|20(2D]20]2 medias or medics
HY | 125 | 125] 125 | 125 | 125 | 141 | 131 | 147 | 1515] 1685] 157 | 174 | 1625 1925| 188 | 201 |  with particles on
P 72T 1 17Z 8 ]3] 30 | 31 VD[ B]|AN] B request.
3 18" /8" 1/8"| 1/8"| 1/8"| 1/8"| 1/8"| 1/8"| 1/8"| 1/8"| 1/8"| 1/8"| 1/8"| 1/8"| 1/8"| 1/8"
@z | 4 | 40 | 40 | 40 | 40 | 40 | 40 | A0 | 40 | 40 | 40 | 40 | 40 | L | 40 | 40
o nin|n|n|n|8|n)|8|a8| 9|8 )| 9| 8|07 9|10
M 22020 29| 203 | 2| 36|3| 4| 36|43 048] 5
N 2 | 2| 2| 2|24 | @) 47) 47| 52|47 |52]|47]| 5] 85] 5

1) Typ DR > deppeltwikend, Typ 5C -> aéinfachwirkend

MVA automatic ball valve Rev.00 1213 DD



MVA GmbH « Mess- und Verfahrenstechnik Fon: +49/89-85 83 69 -0 « Fax: +49/89-85 83 69 -70
Lochhamer Schlag 6 + D-82166 Gréfelfing inffo@mva-messvt.de « www.mva-messvt.de

MVA automatic ball valve

Automation unit with flange ball valve FKHE-VL816
Flange ball valve acc. to face-to-face length DIN 3202 F4, PN 16; DN15 - 100 in stainless steel 1)
Temperature range automation unit: -20°C to +80°C
other temperatures o.r., temperature range ball valve: -20°C to +200°C M N
-
4
Maintenance-free, self- T 21
adjustable stem bearing
e |
spring backed
packing box O
acc, to ] A |
TA-Luft
© =
Anti blow out T;?' : |
i e [ g
o L
Antistatic design L 24, e 1
—~—
dead space reduced o~
7/ 0
full bore ﬁ‘*' 0
o
o X
optional: c.
Fire safe acc. to a 9
BS 6755 and ISO 10497 o
V'
Material certficate acc. to 9
EN 10204/3.18
2
L Q
Pos. | pcs. Descripfion Materal Pos. | pes. Description Materid
1 1 Body 1.4408 8 1 V-Ring package PTFE
2 1 End cap 1.4408 9 1 clamping ring 1.4401
3 1 Ball 1.4401/08 10 1 disc spring 1.4301
4 2 Ball ssat PTFE reinf. 1 1 hexagonal nut A2
5 1 Body seal PTFE 12 1 lock washer 1.4301
6 1 Stem 1.4401 13 4/8 hexagon bolt AA4-70
7 1 bottom bearing PTFE reinf. 14 1 Antistatic ball 1.4401
Typ"
Size | 00030 [ 00030 | 00030 | 00030 | 00030 | 00040 | 00030 | 0000 | 00040 | 00100 | 00040 | K000 | 00100 | 00150 | 00150 | 00220 | 00220 | 00300
G Tz A L4 T4 T2 z 212 S a
DN 15 20 25 32 40 50 65 80 100
k 115 120 125 130 140 150 170 180 190
H2 50 535 585 71 76 835 95 113 131
A 159 [ 159 [ 159 159 | 159 [ 21 159 | 211 211 248 | 211 248 | 248 | 260 | 269 | 315 [ 315 345
B 85 85 85 85 85 102 | 8 | 102 102 | 115|102 N5 | 115 | 127 | 127 | 145 | 145 | 157
H 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 30 30 30
H1 185 | 155 159 159 | 164 181 176 | 193 198 | 211 206 | 219 | 230 | 242 260 | 288 306 | 318
P 30 30 30 30 30 31 30 31 31 33 31 a3 33 38 38 43 a3 45
: ] /8| 1/8 | /8" [ 1/8 | 1/8 | 1/8 /8 [ /8 | 1/8" | 1/8 | 1/8 18 | 1/8 | a4 | /4 | 1/4 | /& | /4
@7 | 40 P a0 40 Q0 a0 40 2 ] 40 [ Q0 40 Q0 A | 56/65 | 56/65 | 56/45
[e] 83 a3 83 83 a3 95 83 95 95 107 95 107 107 | 123 123 141 141 152
M 36 36 3% 36 36 43 36 43 43 50 43 80 50 56 56 64 64 70
N 47 47 47 47 47 52 47 52 52 57 52 57 57 &7 67 77 77 82
D ype DR -> qoupie act NG, Type SC -> spring refurn
The units are suitable for 6 bar confrol pressure and for Iubricating, neutral medias.
Units for not lubricating, crystallizing medias or medias with particles on request,

MVA automatic ball valve Rev.00 1213 DD



